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1. zlep²ující cesta

z
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1− r = r2

r → 0
1→ r2

1→ r2

εP = r

w(f ) = 1 + r

0→ r
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2. zlep²ující cesta

z

s

1− r = r2

0→ rr2

εP = r

w(f ) = 1 + 2r

r → 0(c − f )(e)



3. zlep²ující cesta

z

s

1− r = r2

r → r3r2 → 0

εP = r2

w(f ) = 1 + 2r + r2

0→ r2(c − f )(e)

r − r2 = r3



4. zlep²ující cesta

z
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1− r = r2

r30→ r2

εP = r2

w(f ) = 1 + 2r + 2r2

r2 → 0(c − f )(e)



2k − 1. zlep²ující cesta

z
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1− r = r2

rk → 0rk−1 → rk+1

εP = rk

w(f ) = 1 + 2r + 2r2 + ...

0→ rk(c − f )(e)

... + rk

rk−1 − rk = rk+1



2k . zlep²ující cesta

z

s

1− r = r2

0→ rkrk+1

εP = rk

w(f ) = 1 + 2r + 2r2 + ...

rk → 0(c − f )(e)

... + 2rk



2k + 1. zlep²ující cesta

z

s

1− r = r2

rk → rk+2rk+1 → 0

εP = rk+1

w(f ) = 1 + 2r + 2r2 + ...

0→ rk+1(c − f )(e)

... + 2rk + rk+1

rk − rk+1 = rk+2



2k + 2. zlep²ující cesta

z

s

1− r = r2

rk+20→ rk+1

εP = rk+1

w(f ) = 1 + 2r + 2r2 + ...

rk+1 → 0(c − f )(e)

... + 2rk + 2rk+1



Limitní tok není maximální

z

s

r11

101010

1010 10

r =
√
5−1
2

1 + 2r + 2r2 + ...

... + 2rk + 2rk+1 → 2 +
√
5 w(f ) = 10


